BUCKING-HAMSHIRE 1938

1937							1	NO	R	HS
Ratcliffe A	3	1	98	68	49.00					
Powell AP	7	2	175	54*	35.00					
Peters SS	10	. 0	311	79	31.10					
Aubrey-Fletcher JHL	14	1	386	112	29.69					
Walker GS	7	0	193	70	27.57					
Macindoe DH	4	1	79	59*	26.33			1+		59
Boddy CH	2	0	52	45	26.00					
Baker LG	10	1	231	69	25.67					
Tibbles EJ	4	1	66	34	22.00	Not	men	tioned		
Stevens-Davis BH	6	1	98	50*	19.60		1 +			
Beeson E	1	0	17	17	17.00			tioned		
Holliman CA	2	0	33	22	16.50			tioned		
Millar Logan W	2	1	16	14*	16.00			tioned		
Cassavetti AJS	4	0	52	23	13.00	Not	men	tioned		
Franklin WB	10	0	109	32	10.90					
Tompkins R	1	0	10	10	10.00	Not	men	tioned		
Lund V	8	2	47	18	7.83					
Busby AH	8	1	53	20*	7.57	:		tioned		
Melville JH	4	0	27	10	6.75	Not	men	tioned		
Edwards F	11	4	36	11	5.14			1 +		
James AJS	1	0	4	4	4.00	Not	men	tioned		
Roberts D	7	1	20	8	3.33	Not	men	tioned		
Sales HE	3	0	8	7	2.67			tioned		
Robey CJ	1	0	0	0	0.00			tioned		
Emery RF	2	2	2	1*	****	Not	men	tioned		
1938							1	NO	R	HS
Baker LG	13	2	426	87	38.73			NO	K	113
Aubrey-Fletcher JHL	13	1	437	106*	36.42					
Peters SS	12	0	406	110	33.83					
Skinner AG	13	2	350	100	31.82				1+	
Walker GS	11	0	250	68	22.73				1 -	
Rutter RH	6	3	64	25	21.33				1 -	
Battcock OG	8	1	149	44	21.29					
Sales HE	1	Ö	19	19	19.00	Not	men	tioned		
Lund V	12	5	116	32*	16.57	1400	111011	lionica		
Holliman CA	10	0	158	44	15.80					
Franklin WB	11	1	156	39	15.60					
Ratcliffe A	5	0	73	37	14.60					
Boddy CH	1	0	8	8	8.00	Not	men	tioned		
Macindoe DH	4	0	32	18	8.00			tioned		
Hastie JH	1	0	5	5	5.00			tioned		
Edwards F	10	0	37	13	3.70	INOL	men	uoneu		
Luwaius i	10	U	31	13	3.70					

1938						0	В	М	R	W
Boddy CH	28.2	13	57	12	4.75					
Battcock OG	190.1	62	430	45	9.56					
Rutter RH	97.2	29	223	23	9.70					
Edwards F	156.2	52	333	25	13.32			1-		
Lund V	219.4	65	577	34	16.97					
Macindoe DH	55.4	21	137	8	17.13					
Holliman CA	37	0	179	8	22.38					
Aubrey-Fletcher JHL	18	2	68	3	22.67					
Hastie JH	1	0	6	0	****	Not	mer	ntion	ed	
decimal addition	802.5									
true over figure	803.3	244	2010	158						
1939						0	В	M	R	W
Rutter RH	80.2	16	266	29	9.17					
Boddy CH	7	1	10	1	10.00					
Edwards F	117.3	23	336	26	12.92					
Lund V	153.4	41	423	30	14.10					
Battcock OG	235.3	61	595	42	14.17					
Butler	3	1	19	1	19.00					
Macindoe DH	15	2	54	2	27.00					
Miller-Logan WE	11	1	36	1	36.00					
decimal addition	622.2									
true over figure	623	146	1739	132						
					33	388				

COUNTY CRICKET CLUB

Batting and Bowling Averages

CAMBS.' improved showing In the Minor Counties Cricket Championship—they finished eleventh as against twenty-first the previous season—has already been commented upon.

The batting and bowling averages are now available, and these, too, make better reading.

H. W. Taylor, with 57.12, heads the batting, in which nine regular players have an average of over 20.

Cliff Smith, who has bowled exceptionally well throughout the season, tops the bowling, with a new-comer, E. Parish, second in the list.

The averages are:

BATTING.

			High	•	
	Т	imes	est	Total	
In	ns.	n.o.	inns.	runs.	Aver.
H. W. F. Taylor	8	0	181	457	57.12
F. A. Ridgeon	9	1	151	350	43.75
Covill (R J.)	9	ō	96	382	42.44
	10	ĭ	83	343	38.11
Smith (C. J.)	7	õ	51	183	26.14
W. T. Whewell	5	2	38*	76	25.33
F. W. Wilkinson	9	ĩ	69	194	24.25
L. A Covill	ģ	i	104	181	22.62
C. E. Cooto 1	ń	ō	60	213	21.30
E. Parish	7	ž	10	33	8.25
S. M. Tebbit	8	2	13	40	6.66
Also batted-F. V	LT.	Da of	1	-0-73-81	
H. J. Rose, 3.0	0 A	CALL	17.	E. I	Tobbs.
2-0-16-19-9.50.	4	0-13.3	13;		topos,
Denotes not					
Denotes not	out				

BOWLING.

	O.	M.	R.		Aver.
Smith (C. J.)	262.4	63	512	34	15.05
E. Parish	191	27	534	21	25.42
F. W. Wilkinson	161	28	506	13	38.92
W. T. Whewell	8.3	13	276	7	39.42
H. J. Rose	77		199	5	39.80
Covill (R. J.)	60	ž		6	40,50
L. A. Covill	43	4	215	5	43.00
Also howled -	H. V	V F.	Tayl	or. 7	-0-36-1:
F. A. Ridgeon, 20-	8-45-1	E.	Hobb	8. 12	-1-47-1:
C. E. Coote, 4-0-20	0: 1	I. A.	Crou	ch.	3-0-31-0.

CORNWALL AVERAGES

D.	~ 1 1	mo			
	No.				
			H'gst.		
	inns	. ou!	score	runs	AVE
G. Rogers	14	1	194	343	41 92
C Casley	14	3	100	360	32 72
K. Hosking	14	0	131	382	27 78
E. K. Scott	10	2	81	206	2.5 7.5
G Holman		ĩ	66	343	24.5
Ollerearnshaw (H.)		1	60	143	20 42
W J. Addicoat	14	0	107	231	17 92
C. V. Paull		1	37	187	15 38
N. Dorning	. 6	1	28	77	13 4
C. Kendall	11	3	26	90	13.0
Harry (T)		2	34	71	10.14
T. Maddern		1	11.	31	6.2

Also batted.—J C. Haye, 3 inns. 44 highest score, 57 total, 19 average; E. J. Griffiths. 1—17—17—17. C. Lovelock, 4—35—45—11.25; J. S. Palmer, 2—6—11—5.5; J. E. Mill.

BOYS' MATCH—Hugh Murray's XI. methony Plowden's XI at Yelverton vesterday. The players were between the ages of 9 and 14 Scores—Murray's XI., 8% (Tubbs 20, D. Wilson 14, Murray, ret., 17 Cronk, ret., 12). Plowden's XI., 68 (Bent., ret., 21).

WESTBRITON: THURSDAY 1 SEPTEMBER 1938-1.

CORNWALL'S HIGH PLACE

IN THE MINOR COUNTIES CHAMPIONSHIP

G. ROGERS AND HARRY HEAD COUNTY AVERAGES

	BAT	TIN	C:		
Ν.	o. of	Not	Hight	Tota	1
	mus.	out	score.	110113.	
G. Rogers	14	1	194	545	41.92
C. Casley	14	3	* 1(0)	260	32.72
K. Hosking	14	()	131	31.2	27.28
E. K. Scott	10	2	81	206	25 75
G. Holman	15	1	bti	313	24.5
Ollerearnshaw	•				
(H)	8	1	60	1-13	20.42
W. J. Addicoat	14	ò	107	251	17.92
C. V. Pault	13	i	37	187	15.58
N. Dorning	6	i	1.13	7.7	15.4
C. Kendall	11	5	26	90	15.0
Harry (T.)	9	9	54	. 1	10.14
T. Maddern	6	2	11	ái	6.2
Also baited:	()	1	11	.11	
J. C. Haye		0	4.4	57	19.0
E. J. Griffiths	1	()	17	17	17 0
C. Lovelock	4	0	333	4.5	11.25
J. S. Palmer	2	0	В	11	55
J. E. Mill	1	1		-	- 1
" Not out.					
	BOW	LIN	G		
	O.	P.I.	11	Wiles	Avice.
Harry (T)	242	59	529	49	10 79
C. Kendall	955	47	703	46	15 28
Ollerearnshaw					
(11.)	114	1.5	: 16	1.1	28.72
E. K. Scott	1.36	12	41'2	16	30 12
T. Maddern	91	1.4	2:12	.3	97.33
Also howled:					
J. S. Palmer	10.2	4	17	2	8.5
K. Hosking	11		- 25		24.5
N Doggan	6		20	i	39.0
C. Casley	18		11.1	2	42.0
J. E. M111	19	5	6.1	î	61.0
C. Lovelock	17	4	47		4.1.4
I. J. Griffiths	7	- 7	37		
G. Rogers	2		17		
	£.		1.7		

CORNWALL MAKE RECORDS

SEASON OF FINE ACHIEVEMENT

IMPROVED BATTING AND GOOD BOWLING

CORNWALL County Cricket Club has just completed one of the most successful, if not the most successful, seasons in its history. Of the eight matches played in the Minor Counties Competition four were won, two were won on the first innings, and two were lost.

These results give the county a per-centage of 65, and this should be high enough to give a good place in the competition table.

Perhaps the best achie ement was c win on Saturday against Surrey II. at rin on Saturday against Surrey II. at Penzance in a game notable for ow scores on both sides. Set to get only 133 to win in the tourt! innings, Surrey failed by 12 runs against some splendid bowling by Harry, who claimed eight wickets for 50 runs, and was ably backed by Palmer. This was Cornwall's first win against Surrey in Cornwall, although having previously been successful at the having previously been successful at the Oval.

RECORDS BROKEN.

Records have been made this season, the total of 471 for 6 against Dorset and the individual score of 194 by G. Rogers both being the highest of their kind. Four centuries have been made, by K. Hosking, C. Casley, G. Rogers, and W. J. Addicat Addicoat.

Addicoat.

Several factors have contributed to the season's success. The side has been ably led by the captain (C. V. Pauli), whose optimism and judgment have been a valuable asset. There has been a most welcome all-round improvement in the batting, and, finally, the county owes its principal debt to the two founds owers. C. Kendall and T. Harry, who have practically carried the burden of the attack. They both claim over 40 wickets, and if Harry's average is better, Kendall has been exceptionally inexpensive for a fast bowler. Harry's 49 wickets for about 10 runs per wicket is surely an outstanding performance.

FIFTEEN PLAYERS CALLED UPON.

wickets for about 10 runs per wicket is surely an outstanding performance.

FIFTEEN PLAYERS CALLED UPON.

All the players have given valuable assistance throughout the season, and it is difficult to differentiate between them. Altogether in the eight matches fifteen players have taken some part, including two younger cricketers in E. K. Scott and C. Lovelock. The former is a valuable all-rounder, who will surely be of great value to the county in the future, and the latter will get further chances if he continues to show good form.

It is confidently expected that the eleven selected to represent Cornwall in the Colts' match with Devon Colts at Exeter will gender a good account of themselves. They look to be a well-balanced, young side, but their true value will be brought out in such a game. It is much to be hoped that these Colts' fixtures will not again be interrupted in future seasons.

On Saturday next the Gloucestershire-XI. are due at Camborne to play an exhibition match, with the Camborne club, which will be strengthened by the inclusion of one or two well-known Cornish players. This game will, of course be the centre of attraction in cricket circles in Cornwall, and a very large crowd will assuredly be seen on the Camborne ground for this enterprising effort.

THE LEAGUE.

THE LEAGUE.

THE LEAGUE.

The experiment this season of playing league matches on county match days has not been an unqualified success. It has borne heavily on the clubs whose players were doing duty for their county, and the Camborne club in particular has been severely handicapped. Other clubs affected have been Falmouth. Heiston, and Redruth. As Falmouth and Camborne have lost further matches the position of Penzance a now assured at the head of the Western Section. This is also true of Fowey in the Eastern Section. The final match in this senior competition will be played on the Camborne ground on Saturday. September 10, and should prove a very interesting same.

In the junior competition Lelant have maintained a fine record of 17 wins out of 18 games played, and are thus in an unsassilable position in one section. In the other section Climax Works have 22 points with two games to play, and Barripner and Mawman each have 27 points with three games to play. There is, therefore, a very good chance of Climax carrying off the honours of this section. There his been very keen competition in the funior section this year, in spite of the fact that there are rather too many clubs in each of the divisions, rendering it necessary to play mid-week games, which are not quite satisfactory.

COUNTY ATTRACTION Gloucestershire XI. To Play At Camborne

At Camborne

Gloucestershire's team, including many well-known county players, will oppose Camborne at the Roskear Ground next Saturday.

When Gloucestershire visited Camborne in 1936 their team included Hainmond, Barnett, Sinfield, and Goddard, but no play was possible owing to rain. It 4s hoped that all these players (with the possible exception of Hammond, who may still be engaged in the Test match) will be seen, and accommodation is being arranged for 8,000 people.

Camborne Club are endeavouring to raise money for renovating their pavilion, and it is hoped that they will be substantially helped by this match.

Baturday is also carnival day at Camborne, and the carnival dance in the Assembly Rooms in the evening will be attended by the Gloucestershire players.

6

CORNWALL COUNTY CRICKET

ATTACK ENCOURAGING

BATTING APPEARS TO LACK PATIENCE

Position of Cornwall in the Minor Counties' competition table for 1937 was a lowly one, state the committee of Corn-wall County Cricket Club in their report for the past year. One game only was won during the season and all the others were lost.

The actual position, however, was not quite so unfavourable as it might seem. The opening match with Devon at Camborne gave Cornwall a fine win after an interesting game and a thrilling finish. This encouraged optimistic hopes for the season, which, however, were somewhat rudely dashed by the results of the tour. These were very disappointing, but the remaining three home matches made some amends for the previous failures.

The opposition generally was strong, and some account must be taken of the fact that Cornwall plays with a completely homegrown side of purely Cornish club cricketers, and as such its achievements may receive more sympathetic consideration from its own supporters.

BOWLING ENCOURAGING.

It must be admitted that the Cornwall The actual position, however, was not

BOWLING ENCOURAGING.

It must be admitted that the Cornwall batting was again disappointing, and for the same reason in some measure as heretofore. It seems to lack patience and quiet determination. G. Holman, C. Casley, and W. J. Addicoat made the best showing with the bat, and there is reason to anticipate that last season's experience may make Casley more valuable to his side for another season. The bowling again was an encouraging feature. C. Kendall bore the brunt of the attack against the opening batsmen, and his record of 33 wickets for an average of 21.27 runs per wicket was a fine performance Harry (T.), with 27 wickets for 13 81 runs per wicket, was an extremely valuable asset to his side, as these fine figures show. J. E. Mill was out of form in 1937, but it is hoped that he will come again.

YOUNG PLAYERS.

Several young players were tried during the season with terminaters.

Several young players were tried during the season with fair success. R. W. McKenzie fielded brilliantly, but can do better with the bat. D. J. Rogers shows promise, especially with a little extra quickness. C. Buckingham, a young Colt fast bowler, had an encouraging game against Surrey II., and will very probably be of further use to his county.

will very probably be of further use to ms county.

As a result of the hard work put in by the president, Lieut-Col. Sir Hugh Protheroe-Smith, and the hon, treasurer, the financer of the club continue to be managed most satisfactorily and to be a credit to all concerned. Additional subscribing members are urgently needed as Cornwall's programme is an expensive one each season. The accounts show a credit balance of £66. Match receipts amounted to £126, and expenses £162. Tours cost £204, and £31 10s was expended in grants and subsidies.

SENSATIONAL CORNISH GRICKET RUMOUR

KEN HOSKING AND MINOR COUNTIES 'GAMES

PROTEST TO M.C.C.

(EXCLUSIVE INTERVIEW WITH "CORNISHMAN" REPORTER.).

"The Cornishman" is to-day able exclusively to dispel a sensational rumour which has been circulating in Cornish orioketing circles for the past day or so. The rumour was to the effect that a protest had been lodged against the includence of the cornish of the circulation of the that a protest had been lodged against the inclusion of Ken Hosking, of Camborne, in the Cornwall team which recently defeated Devon in the Minor Counties Championship at Camborne. It will be remembered that on that cocasion, Hosking's score was practically the deciding factor which won the match for Cornwall

The rumour went on to suggest that the M.O.O. had upheld the alleged protest, had disqualified Cornwall, and awarded the match to Devon on the grounds that Hosking was ineligible to play for Cornwall. It was further suggested that the alleged ineligibility arose from the fact that Hosking during his recent residence in India had played for Mysore State and was, therefore, disqualified from playing for any other team for 12 or 24 months.

In an interview with a "Cornishman" reporter to-day, Mr. Beecher Williams, hon, secretary of the Cornwall County Cricket

Club, said:
"I am aware of the rumour, but you can say from me that in the main it is absolutely incorrect.
"You are the first newspaperman to

approach me on the subject, and had it not been for your enquiry I should have allowed the matter to remain quiet. As it is, however, and as you have asked me for a statement on the subject, no purpose can be served by keeping the position quiet.

"The only part of the rumeur which is in any way true is that there was in fact a protest lodged with the M.C.C. against the inclusion of Hosking. It would perhaps, be more accurate to say that his qualifications to play for the county were challenged. I am not at liberty to say by whom this protest was made.

"The result of this was at any rate that the M.C.C. asked me for a statement on the matter, and I supplied them with data regarding Hosking's recent cricketing activities in India. Annong other points I explained to the M.C.C. in my reply that Hosking had played for Cornwall for four successive years, and had, therefore, according to Minor County Cricket rules, the right to play for Cornwall in the match against Devon or any other match. match.

"The effect of the reply I received from the M.C.C. to this letter was that that body were perfectly eatisfied that Hoeking had the right to play for Cornwall, both in that match and any other he cared to take part in." Our reporter suggested that it was a fortunate thing for Cornwall that the M.O.C. had so decided, and Mr. Williams replied: "You are right, and it has given me a very anxious few days indeed. I may add that the Cornwall Committee were perfectly satisfied before they included Hosking that he was entitled to play for the county."

Hosking is at present touring with the Cornish side.

Cornish side.

DORSET COUNTY CRICKET

An Unsuccessful Season

The season just concluded was one of the most unsuccessful that the county has experienced for some years. Only one match was won outright, and wins on the first innings were obtained against Wilts and Devon, while defeats were sustained against Cornwall and Oxford. The first match against Wilts was won on the first innings and the match at Oxford by five wickets. At Bridport against Cornwall, after having the worst of the game, eventually the county forced a draw, thanks to a magnificent century of 113 by Carnegic-Brown. The return match against Wiltswas lost on the first innings after having scored 269 for five wickets against total of 364. The rest of the innings was played out in bad light and the match should have been abandoned, but the county decided to play on, with the result the innings closed for 290. Both matches against Dovon were drawn and each side took points for wins on the first innings. The return match against Oxford was lost by seven wickets, but Dorset in their second innings recovered magnificently on a damaged wicket. The final match against Cornwall at Camborne was disastrous, but missed catches were responsible for the result.

The batting has been fairly consistent, centuries being made by Honey 152 not out, Carnegic-Brown 113 not out, and Fox 104. Taylor and Jarchow have also made good scores; and the former has proved the best all-rounder in the team, scoring the most runs and obtaining 23 wickets. The bowling has not been so good as in former years, the brunt having been borne by Harrison, Badham, and Taylor. However, the fielding has been very patchy. In some of the matches it has been deplorable. The number of catches dropped were too numerous to mention and it is impossible to win matches if opposing batsmen are given three or four lives. It is impossible to explain the reason when one remembers that in the previous year the catching has been excellent.

Summary of Matches The season just concluded was one of the most unsuccessful that the county has

the catching has been excellent.

Summary of Matches following is a summary of the The

The following is a summary of the matches:—
Dorset v. Wilts at Sherborne—Dorset, 306; Wilts, 267. Drawn, Dorset won on first innings.

Dorset v. Oxford at Oxford—Dorset. 312 for four wickets (innings declared); Oxford, 144 and 284, and 87 for five wickets. Dorset won by five wickets.

Dorset v. Cornwall at Bridport—Dorset, 135 and 192 for four wickets; Cornwall, 213 and 262 for six wickets (declared). Drawn, Cornwall won on first innings.

Dorset v. Wilts at Salisbury—Dorset, 290; Wilts, 364. Drawn, Wilts won on first innings.

Dorset v. Devon at Dorchester—Dorset, 238; Devon, 111 and 247 for seven wickets. Drawn, Dorset won on first innings.

Dorset v. Oxford at Merly Park—Dorset, 68 and 268; Oxford, 242 and 96 for three wickets. Oxford won by seven wickets.

three wickets. Oxford won by seven wickets.

Dorset v. Devon at Exeter—Dorset, 395 and 118 for two wickets; Devon, 442.

Drawn, Devon won on first innings.

Dorset v. Cornwall at Camborne—Dorset, 201 and 167; Cornwall, 471 for six wickets (declared). Cornwall won by an inning and 103 wine. innings and 103 runs.

Batting Averages

	- 5	F im	69		
		not	i i	Highe	st
	Ins.	ou!	Run	s score	e Av.
F. C. Jarohow	6	0	295	8-1	49.1
M. L. Taylor	12	2	411	88	41.1
H. W. Fox	8	1	265	104	37.8
E. J. C. Honey	11	2	297	152*	33
G. Carnegie-Brown	10	1	263	113*	29.2
M. B. Elderton	5	2	71	39	23.6
R. G. Tindall	3	ō	69	37	23.0
M. N. Harbottle	3	Õ	62	51	20.6
C. P. Brutton	4	ō	77	26	19.2
P. H. P. Loveli	3	Ō	59	34	19.6
R. D. Busk	4	ĭ	54	19*	18.0
C. Brockway	6	õ	66	28	11.0
W. H. McBride	3	ĭ	20		10
P. H. C. Badham	9	õ	75	34	3.3
A. M. Harrison	8	3	20	7	4
F. King	4	ŏ	12	12	3
Also batted:	C. 1		Fawe		£. L.
Thompson, E. J.		e.ma		117 T	1.

Wyllys, P. Dobrie Carey, R. W. L. Ire-monger Watts, C. J. P. C. Jowett. Bowling Averages

Bowling Averages
O'rs, M'ns, Runs Wt's, Av.
P. H. C. Badham 173.3 47 492 23 21.9
F. C. Jarchow 41.0 7 162 7 23.1
M. L. Taylor 174.3 22 647 23 28.1
F. King 82.0 18 205 7 29.2
A. M. Harrison 292.3 78 818 25 30.6
Capt. R. D. Busk 54.0 8 209 5 41.8
Also bowled R. W. L. Iremonger Watts,
G. H. de B. Wyllys, C. J. P. C. Jowett,
C. L. Fawcus, R. G. Tindall, W. McBride,
P. A. Dobrie-Carey, G. A. Tovey.
* Signifies not out. Signifies not out.

Hertfordshire

1020 D-44:	M	I	N/O	R	Α	
1938 Batting	4	8	0	313		.12
LE McLean	10	17	1	603		.68
PGT Kingsley	6	11	0	249		2.63
GV Ledger	9	14	2	269		2.41
TG Purver	2	4	0	86		.50
JG Cruikshank	10	18	2	332).85
NE Lane	6	10	2	165		0.62
MA Wiggs		19	3	318		9.87
E Roberts	12	19	1	173		7.30
CW Ford	6	5	1	67		5.75
DC Urry	4		1	274		5.22
F Appleyard	12	19		28		4.00
T Watson	4	6	4			2.58
A Grimsdell	10	14	2	151		2.25
WW Coverdale	4	5	1	49		1.84
CS Harwood	7	14	1	154		
FP Longton	3	5	0	57		1.40
GJ Adams	4	8	0	70		.75
E Canning	5	10	0	83		.30
HD Burgess	3	5	1	33	8	.25
Also Batted			4	22	2	2.00
AS Tee	1	2	1	23		3.00
AR Golding	1	2 2 . 2	0	29		4.50
TB Wilkinson	1	2	0	19		2.50
FP Keysell	2	. 2	0	14		7.00
JT (E?) Marriott	1	2	0	2		.00
RE Waterhouse	1	1	0	1		1.00
JE Shaw	1	2	1	0		0.00
JM Lander (Lauder?)	1	1	0	0		0.00
R Watson	2	2	2	3	,	?
1938 Bowling	O		R		W	A 12.25
T Watson	102	2	318		24	13.25
F Appleyard	440)	113	8	66	17.24
E Roberts	380)	104	-3	60	17.38
DC Urry	68		225		7	32.14
CW Ford	112	2	437	7	13	33.61
Also Bowled					4	10.00
JG Cruikshank	8		19		1	19.00
MA Wiggs	15		63		2	31.50
R Watson	19		69		2	34.50
JT (E?) Marriott	8		36		1	36.00
LE McLean	11		25		0	-
HD Burgess	6		17		0	-
GV Ledger	3		15		0	-
U V II U U D U D U D U D U D U D U D U D U						

COUNTY CRICKET AVERAGES

HERTFORDSHIRE SIXTH IN MINOR COUNTIES CHAMPIONSHIP

F. APPLEYARD'S RECORD

Herfordshire finished sixth in the Minor Counties Cricket Championship. Of twelve matches played six were won and only two best, which, having regard to the fact that frequent changes had to be made in the team, may be recarded as extremely satisfactory. Allogether, twenty-cipit players were called upon for the Minor Counties Championship matches, and they included members of the following clubs: Barnet, Bishop's Stortford, Broxbourne, Bushey, Chipperfield, Harpenden, Hertford, Leavesden, Old Albanians, St. Albans, Welsyn Garden City and West Herts.

A POPULAR SKIPPER.

A POPULAR BKIPPER.

P. G. T. Kingsley, a former Oxford captain and double Blue, the new skinger, proved popular with all the counties Hertfordshire met and the members of his own team found it a delight to play under his inspiring leadership. Kingsley's first year in the captaincy was a difficult one. All the players except four were new to him, but he handled the side with marked judgment and set a splendid example by his brilliant batting, making the highest aggregate of runs —6.0.5 with an average of 37.68, which is accound only to that of L. E. Melzan.

Melzan, who heads the batting with 30.12, is regarded as the best cricketer to be introduced to the County side since F. C. de Saram. He is a very fine stroke player and certainly the most powerful hitter in the County. C. V. Ledger has done well in his first season in the team and shows considerable promise, and the same may be said of N. E. Lane, G. T. Adams, and a number of the other young players who made their debut in County cricket during 1958.

An AMAZING FEAT.

AN AMAZING FEAT.

AN AMAZING FEAT.

The brunt of the attack fell on F. Appleyard and Robetts (E.). Appleyard, who claimed 66 wickets for 17.31 runs each, has secured more victims during the season for Herts than any other amatter has done for thirty years. His best performance was arainst Lincolnshire, at Grimsby, where he took 16 wickets for 72 runs, but he put up an amazing feat of indunance against Suffolk, at Felirstowe, where he besiled for nearly six hours, maintaining a perfect highly and very few of the 350 or so balls which he sent down on that occasion were hittable. Roberts took 60 wickets and his best performance was 9 for 45 against Suffolk, at Stevenage. T. Watson headed the bowling averages with 26 wickets taken at a cost of 14 runs each. His outstanding feat was against Bucks, when he secured 9 wickets for 59. No young bowlers of outstanding promise were discovered during the season.

A number of changes had to be made in the team for almost every match, but the fielding was invariably excellent. It is certainly encouraging to find that the County, after trying so many players, is still able to occupy a prominent position in the competition. The averages for the Minor Counties Championship matches are:

BATTING.

No. Most of

	No.		Most		
	of		in		
	Inns.	NO.	Inns	. Runs.	Avge.
L D Mclan	В	0	83	313	39.12
P. G. T. Kingsley		1	127	603	37.68
G. V. Ladger		O	97	249	22.63
T. G. Purver		2	68	269	22.41
J. G. Cruikshank		0	79	86	21.50
N. E. Lane			57	336	21.00
M. A. Wiggs		2	64	165	20 62
Roberts, E		3	104	318	19.87
C W. Ford		1	53	173	19.06
D. C. Urry		ī	35	67	16.75
F. Appleyard		1	60	294	16 33
W. W. Coverdale	5	1	14	59	14.75
T. Watson	7	5	12	28	14.00
C. S. Harwood	14	1	24	154	11 84
A. Grimsdell		2	46	142	11 83
F. P. Longton		ō	35	57	11.40
G. J. Adams			14		8.75
E. Canning			17	83	8.30
H. D. Burgess		1	18	33	8.25
Also batted in les	a the	n 1	our		A. R.
Golding. 4.25; T. 1	3 11	illing	on.	1.18:	Keysell.
0.14: Tec. 5.18°; J.	TA	larrio	it O	2: R.	Watson.
3; Shaw, 0.0; Lande	r 0	K.	G.	Waterbo	usc. O.

BOWLING.

	O.	Μ.	R.	M.	Avge.	
T Watson		18	364	26	14.00	
Roberta, F.,	385	72	983	60	16.38	
F. Appley and	440	106	1.143			
D. C. Urry	68	7	225	7	3 - 14	
C. W. Ford	112	12	437	1.5	33.61	
Bowled and see	ured	less the	an 7 wi	eketa:	M. A.	
Wiggs, 2-63; R	. WE	tson. 2	2-69:	J. G.	Cruik-	
shank. 1- 19; J.						
and secured no	wicket	6: II.	D. Bur	Bens,	L. E.	
McLean, G. V. La	dger.					

McLean and Watson Head Herts Averages

L. E. McLean, who heads the Herts Minor Counties Championship batting averages, just issued, is regarded as the best cricketer introduced to the side since the departure of F. C. de Saram.

F. Appleyard, who claimed 66 wickets, has secured more victims for Herts than any other amateur has done for thirty years.

years.

Herts finished sixth in the competition. Leading averages are as follow:—

No	Tim	es	Most	:
of	not	Tota	i in	
inns	out.	runs	inns	Avge
L. E. McLean 8	0	3:3	83	39.12
P. G. T. Kingsley 17	1	603	127	37.68
G. V. Ledger11	0	249	97	22 63
T. G. Purver14	2	269	68	22 41
J. G. Cruikshank 4	0	86	79	21.50
N. E. Lane 18	2	336	57	21 00
M. A. Wiggs10	2	165	64	20.62
Roberts, E	3	318	•104	19 37
C. W. Ford	1	173	53	19.66
D. C. Urry 5	1	67	35	16.75
F. Appleyard19	1	294	60	16 33
W. W. Coverdale 5	ī	59	14	14.75
T. Watson 7	5	28	12	14.00
C. S. Harwood14	1	154	24	11.84
A. Grimsdell14	2	142	46	11.43
F. P. Longton 5	ō	57	35	11.40
•Indicates	not	out.	30	

BOWLING

0	M	R	w	Avge.
T. Watson113	18	364	26	14.00
Roberts, E385	72	983	60	16.38
F. Appleyard440	106	1.143	66	17.31
D. C. Urry 68	7	225	7	32.14
C. W. Ford112	12	437	13	33.61
A review of the	000	con ha	1	roady

A review of the season has already appeared in the "Observer."

Thirty-two Gentlemen of Herts and County Club matches were played, of which eight were won, 16 lost, and eight drawn.

J. A. R. Oliver heads the batting with an average of 75.20, and F. Appleyard the bowling with ten wickets at a cost of 3.90 each. W. H. Marsh, the Harpenden veteran, bowled 364 overs and had 47 wickets with an average of 18.14.

MR. LEONARD J. REID

DEATH OF NOTED JOURNALIST IN NEW YORK

PROMINENT RADLETT AND COUNTY CRICKETER

LOSS TO PORTER'S PARK GOLF CLUB

It is with deep regret that the "Herts Advertiser" reports the death of Mr. Leonard John Reid, of "Hill Top," Wat-ford-red Bedley

Leonard John Reid, of "Hill Top," Wat-ford-road, Radlett.

Mr. Reid left England for New York in the "Queen Mary" on October 13th, but he became so ill from an attack of bron-chial pneumonia that on arrival he had to be taken at once to hospital, where he died on Tuesday evening at the age of fifty.

fifty.

Mr. Reid, as City Editor of the "Daily Telegraph and Morning Post," was a financial journalist of repute, and was actually visiting the States to familiarise himself with current opinion in America on the expected trade agreement between the two countries—a pact which he two countries-a pact which strongly favoured.

In Business and Sport. Of Mr. Reid, one can write about two sides of his life in words of high praise.



[" Herts Advertiser" Photo. The late Mr. L. J. Reid.

The late Mr. L. J. Reid.

Firstly, in his business career, he was recognised as an inspiring Editor and a loyal comrade, while in the financial world, by his masterly estimates of business affairs and his close study of world conditions, he gained a deep respect.

Secondly, as a sportsman, particularly as a cricketer and a golfer, there was none finer than he. In County cricket circles he was respected by all, and as a supporter of village cricket no one knows better than his colleagues in the Radlett Cricket Club of his abilities and loyal support in this direction. The Radlett Club have lost a President none could equal, and his name will go down in the annals of the Club as one who stood for all that is best in Radlett cricket.

He was the younger son of the late Dr. James Smith Reid, Professor of Ancient History at Cambridge University, and was educated at Aldenham and King's College, Cambridge. As an undergraduate he was a first-class cricketer, and only just missed getting his Blue.

In 1912, when he was twenty-four years of age, he joined the staff of the "Economie," where his natural bent for economie journalism had full play. At the same time he maintained a keen interest in politics, and in 1914 he acted for six months as Secretary to Sir John Simon.

Sound Judgment.

Mr. Reid had been Assistant Editor of

Sound Judgment.

Mr. Reid had been Assistant Editor of the "Economist" for some time when, in November. 1932, he was appointed City Editor of the "Daily Telegraph." In that capacity he exercised an influence which was in many respects unique. His judgment was so

sound, especially on the wider financial questions with a political background, that his views were eagerly sought in high places in the City. His shrewd assessments were based on wide knowledge and close observation, and they came from one who was extremely popular with everyone because of his personal charm. His influence was by no means confined to London. He made frequent visits to the United States, and was accustomed to meet many distiguished men, who always attached importance to his views.

His contacts were with all parties, and it was characteristic that, in addition to seeing a great leader like President Roosevelt, he met many others, including the Labour Leader. Mr. John L. Lewis.

Through the understanding he gained of the two countries he was enabled to write, lecture and broadcast in the most forceful way on Anglo-American relations, and it was generally recognised that his articles stressing the necessity for a speedy Anglo-American trade agreement were of considerable importance.

It was with the object of familiarising himself with current opinion in America, in view of the expected completion of the trade agreement, that he made this, his last trip.

agreement, that he made this, his

last trip.

Many Tributes.

Since the news of his death reached Ergland many tributes have been paid to Mr. Reid.

In the "Daily Telegraph and Morning Post," Sir Walter Layton writes:

"Leonard Reid's mind was one that loved to penetrate beneath the surface of the day-to-day affairs of the money market and the Stock Exchange, and examine the broad general forces that lie beneath, His real love was politics; but he was sufficient of a technician never to lose sight of the financial and economic factors that influenced public affairs. Liberal in outlook his placid and gentle manner concealed very deep and generous enthusiasms.

"Build were first close fourcelist who

manner concealed very deep and generous enthusiasms.

"Reid was a first-class journalist who for a period of nearly twenty years, which included the Great War and the difficult years which followed it, helped in very large measure to maintain the prestige and quality of the 'Economist.' He was certainly one of the best stylists that have written for the 'Economist' in recent years, and his remarkable gift of exposition was seen at its best in dealing with the complex problems that lie on the borderline of economics and politics."

tion was seen at its best in dealing with the complex problems that lie on the borderline of economics and politics."

At Radlett.

As in other circles, so in Radlett, where he resided for many years, he was greatly respected and held in high esteem. His unassuming manner and charm endeared him to all with whom he came in contact. He was one, particularly in the early days, who took a personal interest in the affairs of the Parlish, and although in later years he had not been so active in this respect as hitherto, there was one side of the social life of the village in which his interest never flagged.

That was in sport, and in this respect the Radlett Cricket Club, the Porter's Park Golf Club and the Radlett Squash Club have lost a valued member. He was President of the Radlett Crickete Club, and was mainly responsible for the new ground of the Club off Cobden-hill. He was not only a local cricketer, but also a County player of note.

He first played for Cambridgeshire and then for the Hertfordshire County eleven, which he captained for several seasons up to 1929.

"Will be Sorely Missed."

Mr. Rollo Walker (Secretary of the County Club) writes as follows:

"He was a very successful and popular captain, a good batsman and a fine slip fielder. He will be sorely missed in Hertfordshire cricket."

Mr. Reid was a member of the Committee of the Herts Cricket Club and also a member of the M.C.C.

He was an excellent golfer, and in 1931 he was elected Captain of the Porter's Park Club, of the Committee of which he was a member from 1925 until last year.

Mr. Reid was twice married his first wife, whom he married in 1914, died in 1929, leaving two sons, Malcolm and Colin, who are aged 22 and 19 respectively. In 1933 Mr. Reid married Miss Pearl Wallace, who was a member of the staff of the "Economist."

It is understood that Mr. Reid's remains will be cremated in America and the aches brought home to England for burial.

It is understood that Mr. Reid's remains will be cremated in America and the ashes brought home to England for burial.

HERTS DROP 13 POINTS ON LAST SEASON

"Worst Team for Years," Yet Percentage of 55. Appleyard's Record

By "CASSIO"

N comparison with the three previous seasons the Minor Counties Championship results of Herts show a decline. The completed programme returns a percentage of 55.55, which to the majority of teams in the competition would be highly satisfactory, but for Herts it is a drop of 18 per cent on 1937. Of the twelve engagements Herts won six matches, lost twice to Bucks and forfeited first innings points in the four remaining matches. Out of a possible 72 points they gained 40, 13 fewer than last year.

At the moment Bucks lead the way and I Herts are placed fifth. If their final position is fifth it will not, of course, be so good as the championship and runners-up efforts, but to contrast it with the flounderings of not so many years back it is a big step forward. There is no justification for thinking that Herts are on the down-grade; that this is the beginning of a swift slide down the slippery slope that leads towards the foot of the table. The county had to struggle hard to reach the heights, and the committee are determined to see that they remain at the top. If they fail it will not be for the want of imagination or conservative team building methods. Herts are placed fifth. If their final posi-

Lost Key Men

Many committees faced with similar problems which confronted Herts at the beginning of the summer would have despaired. The resignation of the captain was followed by the notification from Fordham that he would not be available for any of the matches. They said good-bye to the undisputed best all-rounder in the county. The previous year they had bade a farewell to de Saram, returning to Ceylon, and Captain Longton, opening bat for many seasons, was also given leave of absence.

No one could believe that Herts had

No one could believe that Herts had men equally talented as those that had left. Fordhams and de Sarams are not found everywhere, so the county decided to give as many players as possible a chance to prove their worth. Never before has so many fresh faces been seen in the Herts ranks. Not once was the same team played twice in succession, and I think that most will agree that considering the unsettled team composition the results were distinctly good.

Worst Team for Years

Worst Team for Years

On the whole Herts had to rely on the poorest team they have fielded for years. That fact was admitted by a member of the team selection committee. "Everyone that was recommended had a trial," he confided to me, "and it stands to reason that many of the raw recruits did not fill the bill. Yet others revealed promise and we have high hopes of them developing into useful county assets."

With a passenger or two in most of the matches it behoved the tried and proved players to bring out something extra if the team's high standard was to be maintained. In this respect Appleyard instantly claims attention for some really fine efforts.

He chose an appropriate year in which to enjoy his best ever, and his 66 wickets is the most claimed by an amateur bowler for Herts since the war. If he had failed, Herts' apple-cart would have been well and truly upset!

would have been well and truly upset!
Roberts, like the county, has a high record to maintain, and although 60 wickets is a considerable drop on recent years, it represents much good work. In the first few games Roberts threatened to eclipse even his astonishing record, but he fell away later.

Kingsley, the skipper, scored two centuries, both against the Lines bowlers; and Roberts, whose hard hitting is a delight, ran up 104 in opposition to Suffolk.

Suffolk.

Watson, the slow bowler, has found it increasingly difficult to get the necessary leave to play, but when he has appeared he has bowled exceedingly well.

McLean The "Find"

McLean The "Find"

Of the newcomers unquestionably the 'find" has been McLean, a former Bishops Stortford College boy, now at Oxford. It is confidently anticipated that he will get his "Blue" next season. Fluent in stroke play and a prolific run getter, he should do the county much distinguished service. Lane, of West Herts, has played some useful innings and should be certain of a permanent place if he continues to develop.

Two Fixtures to be Dropped

Next season the two fixtures with Suffolk are to be dropped, leaving Herts with a reduced programme of ten matches. Roberts takes a well-deserved benefit, probably at St. Albans.

Happily the county finances are now in a better state than at the commencement of the season, and a grant of approximately £180 is expected from the Test Match revenue.

This will go a long way towards putting money matters in order.

LANCASHIRE 2nd XI AVERAGES 1938

	М	ı	N.O.	Runs	H.S.	Avge.	c	50	Overs	M.	Runs	Wk	Avge.	5i.	10m	Best	Ct	_
S.Banham	3	4	0	22	18	5.50	0	0						_	_		3	2
A.J.Birtwell	9	10	5	98	30	19.60		0	169.5	37	446		12.38	3	0	5-20	5	0
J.Bowes	11	15	1	106	21	7.57	0	0	252	47	653		13.89	2	0	6-35	12	0
J.Briggs	2	1	1	2	2*	-	0	0	2	0	9	0	-	0	0	-	1	0
D.H.Burrow	1	2	0	10	6	5.00		0									1	0
F.Cooper	1	2	0	18	17	9.00		0		150 800					_		U	U
K.Cranston	6	9	1	238	117	29.75		0	98	21	238	16	14.87	1	0	7-83	1	0
C.R.Davies	4	5	0	88	65	17.60	0	1			Principles W				_		1	0
J.H.G.Deighton	3	3	0	19	11	6.33	0	0	64.5	10	234	13	18.00	1	0	5-58		0
G.Duckworth	2	1	0	3	3	3.00									_	- 40	2	1
C.A.Edge	2	2	0	6	5	3.00		0	39	9					0	7-48	1	0
R.G.Garlick	12	17	3	154	42	11.00		0	234.1	40	10.000				0	6-25	4	0
E.Greenhalgh	9	13	1	185		15.41			31	5		0		0			13	0
T.A.Higson	11	14	. 4	294	55*				68.1	8	225	6	37.50	0	0	3-70	0	0
A.E.Husband	7	11	1	215		21.50						_					1	0
D.D.L.Little	4	- 5	0	84	35	16.80			1	0	3	0	-	0	0		2	U
D.M.Mathews	3	3	0	73	56	24.33		1								4 00	4	0
R.Parkin	12	17	' 1	673	119	42.06		_	210.2	53						4-29		0
W.Place	11	18	4	422	78*	30.14	0	3	• •	0				0			10	0
W.B.Roberts	4	. 7	2	41	21	8.20	0	0	39.5	8	92	4	23.00	0	0	4-42		0
H.Robinson	7	9) 1	61	18	7.62	0	0									16	2
W.Whitworth	2	4	- 0	40		10.00	0							_			0	0
J.Wilson	6	11	1	239	66	23.90	0	2	8	0	37	2	18.50	0	0	2-23	3	0

SUFFOLK COUNTY CLUB

THE SEASON'S AVERAGES

THE SEASON'S AVERAGES
BATTING Not Highest
Mead (C. P.)
H. P. Waugh 11 - 218 88 19.81
R. C. Leech
T. H. Digings
A. J. R. White
and 10. R. H. Ames and and D. P. G. Elliot 26 and 0, J. H. Weiler-Poley 0 and 2. C C. Bailey 8°, F. E. Robinson 4, and Williams (A. J.) 3 and 9. (*) Signifies not out.
A. W. C. Pritchard 5 0 35 3 11 66
H. B. Goundry 14.1 0 0 7 3 3 3.33 T. 1 T. H. Digings 14.2 2 50 2 2500 J. C. Walton 51 1 218 8 27.25 R. C. Leech 89.2 8 312 11 28.36
Mend (C, P.)
A. W. C. Pritchard 5 0 35 3 11 66 H. B. Goundry 14.1 0 67 3 22.32 T. H. Diglings 14.2 2 50 2 25 00 J. C. Walton 51 1 218 8 27.25 R. C. Leech 89.2 8 312 11 22.36 Mead (C. P.) 105.2 27 288 9 8 22.11 R. H. Ames 35.5 3 110 3 34.66 C. W. Hockey 61 62 223 6 32.32 H. P. Waugh 166.2 59 469 12 39.03 D. T. M. Birks 62.2 10 196 8 39.20 D. T. M. Birks 62.2 10 196 8 39.20 P. H. Lloyd 28.1 4 117 2 58.5 P. H. Lloyd 28.1 4 117 2 58.5 C. H. Walsham 40.4 5 177 3 58.06 The following also bowled:—V. J. Covill, 18—3—28
The following also bowled:—V. J. Covill, 18—3—29 —1; H. Catchpole, 31—5—127—0; J. M. Bangster, 14 —1—49—1; A. H. Eleigh, 4—2—4—1; H. L. Porter, 2—; 0—18—0; D. P. G. Elliot, 1—0—2—0; R. V. Howard, 11—1—40—1; F. E. Rowlinson, 19—0—78—0; G. C. Balley, 8—0—21—0.
11-1-(0-1; P. E. Rowlinson, 19-0-78-0; G. C. Balley, 9-0-21-0.
OENTURIES FOR SUPPOLK Mead (C. P.) 125 v. Surrey II. J. M. Sangster 144 v. Herts. H. L. Porter 112 v. Camba, Mead (C. P.) 147 v. Camba, A. G. Fowell 118 v. Camba,
W. E. Houghton . 152 for Lines. McIntyre . 139 for Surrey II. McMurray . 110 for Surrey II. Roberts . 104* for Herts. L. A. Covili
(dec.) v. Cambs.: by opponents, 441 for seven (dec.)
Extras: Suffolk received 136; opponents received
Runs per wicket: Suffolk scored 2.845 runs for 137 wickets, average 22.40 per wicket; epponents scored 3,137 runs for 87 wickets, average 36.06 per wicket,

109

2nd ELEVEN AVERAGES 1938 BATTING

Batsman	Number of Innings	Times Not Out	Most in an Innings	Total Runs	Average		
Halliday	11	2	157*	401	44.56		
Hamer	9	0	93	220			
Cawthray	13	1	88*	279	24.44		
G. A. Wilson	17		109		23.25		
Beaumont	14	2 3	58	327	21.80		
Watson	16	3		219	19.90		
	12	$\frac{2}{2}$	63	245	17.50		
		2	48	170	17.00		
D. A. Shepherd	8	1	28	91	13.00		
Wilkinson	8	1	28	63	9.00		
Tomlinson	5	1	27*	33	8.25		
P. B. Brayshay	6	1	9*	16	3.20		
Col. R. C. Chiches-	_ 1						
ter-Constable	5	1	3	5	1.25		
••		owing also					
Hargreaves	4	2	47	51	25.50		
Hampshire	3	1	19	38	19.00		
Haigh	2 3	1	13	17	17.00		
Denison	3	0	38	42	14.00		
Johnson	3	0	28	35	11.67		
J. Brumfitt	2	0	18	23	11.50		
Weatherill	3	1	11	29	9.67		
Robinson	3	0	12	22	7.33		
Smurthwaite	3	0	20	20	6.67		
Cadman	1	0	5	5	5.00		
Bainbridge	2	Ö	2	2	1.00		
Fiddling	ī	ő	ĩ	ĩ	1.00		

*Denotes Not Out.

BOWLING

Bowler	Overs	Maidens	Runs	Wickets	Average
Robinson	61.5	19	132	18	7.33
Cadman	16.5	3	44	5	8.80
Wilkinson	133.4	36	305	27	11.29
Smurthwaite	25	6	92	7	13.14
Tomlinson	87.5	22	216	13	16.61
Hargreaves	109	19	344	19	18.10
Cawthray	101	16	266	14	19.00
G. A. Wilson	66	20	180	8	22.50
P. B. Brayshay	122	21	330	10	33.00
Halliday	60	11	159	1	39.75
Denison	57	9	152	3	50.67
Hampshire	59	8	179	3	59.66
The second secon	The follo	wing also be	owled ·—	, 0	55.00
Hamer	36	3 1	164	1 2	82.00
Johnson	9	1	36	ī	36.00
M. A. C. P. Kaye	1	1	0	Ô	-
Vickers	1	0	2	ő	

MINOR COUNTIES COMPETITION 1938

TABLE OF RESULTS

_	No. of Matches.										No. of Points.						
P	layed	и	'on	L	ost	on	on 1st ns.	on			wn		os-		b- ned	Per- cent- age	
Buckinghamshire			6	•••	0		1		1		0		48		40	83-33	3
Lancashire II	. 12		6		2		2		.0		2		60		42	70.00)
Surrey II	. 12		6		2		2		1		1		66		43	65-15	5
Cornwall	8		4		2		2		0		0		48		30	62.50)
Durham	. 8		4		2		1		1		0		48		28	58-33	3
Hertfordshire	12		6		2		0		4		0		72		40	55-55	5
Yorkshire II	10		4		3		1		1		1					51.85	
Norfolk	12		3		1		4		3		1					50.00	
Middlesex II	8		3		3		1		1							45-83	
Staffordshire			3		3		0		1		1		42			45.23	
Cambridgeshire			2		1		2		3		0					43.75	
Gloucestershire II			3		4		0		1		0						
Devonshire	100		1		1		2		3	•••	1					39.58	
Bedfordshire	170		1		3		3		1		-					35.71	
Kent II			2		5		2	•••	-	•••						33.33	
Oxfordshire			2			•••		•••	1	•••	0	•••		•••		31.66	
Dorset				•••		•••	2	•••	1	***		•••				31.66	
	_	•••	1	•••	2	•••	2	•••	3	•••	0	•••				31.25	
STATE OF STA		•••	1		2	• • •	2	•••	3	•••	0		48	•••	15	31-25	,
Northumberland		• • •	2	•••	5	• • •	1	•••	0		0	• • • •	48		15	31-25	;
Cheshire			1	•••	3		1		2		1		42		11	26.19)
Berkshire*	8		11	• • •	$4\frac{1}{2}$		0		1		1		42		10	23.80)
Wiltshire*	10		1		$3\frac{1}{2}$		2		3		1		54		12	22.22	,
Suffolk	8		0		4		3		1		0		48		10	20.83	3

Buckinghamslire beat Lancashire II in the Challenge Match.

System of Scoring—Six points for a win in a Completed Two Day match, and for a lead on the first innings in a One Day match, provided the match cannot be played out. Three points to the winner and one to the loser in a Two Day match decided on the first innings. Matches in which there is no result on the first innings ignored. *When the match is a tie the points shall be equally divided.

^{*} Tied Match.